[ Efficiency vs vertpos |

—_
+—

20.18F
g o
20.16F
o -
$0.14F

] o
£0.12

Ratio

Efficiend

N

0.08
0.06
0.04
0.02F

0.08F
0.06F
0.04F
0.02

0.2

0.1F

10p

1.2
01+
1T+

+| T

0.9d
1072

10 1 10 0?
TP vertr (cr%)

— DQV ariginal s[epZ tiar-p asel-newgeom

M_pixelCPETemplate_step2_ttbar-phasel-newgeom

—e— DQ &
—_— D8M_pixelCPETempIateCut hiSquarel5_step2_ttbar-
—— D

M_pixelCPETemplateCutChiSquare5_step2_ttbar-p

ﬂhasel-newgeom
asel-newgeom_test

0.2

0.1E

20.18:— ...... .........................................
[ F .
>0.16F -
> N
2 F :
.90'14'_ ----- :

o r
£0.12F
(]

...............................................

...............

...............................

20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N

>
a0.18f

S

e

effic

Ratio

50.16
20.14F
2 F
20.12F

0.08F
0.06F
0.04F

0.2

0.1

.....

...........................................

....................................

- Ty
T e i

955515 -10 -5 0 B 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


